L Lamina

umLamCam® - RollerCam

Patent Pending

www.daytonlamina.com
Check our website for the latest
technical information.



Lm LamCam’

RollerCam

Designed to function at one million hits plus
Maintenance-free, Aluminum-Bronze alloy wear surfaces
Maximum mounting surface on slide face

Increased slide surfaces

Interlocking safety systems

Easy access to Return Spring

Adaptable to any angle

Tooling mount plate is readily accessible from the back,
without disassembling slide

AB’
- A0°
- 1 :I : 0°
- ~ b
By " T . +10°
Most RollerCams can be used in a negative -.\ ' : _,‘f'”_ bope d
or uphill application. Check the tables on R ~ ‘
pages 5 and 7 for further information. o’ 30-
ROLLER CAM SPECIFICATIONS 0.
Basic Work Maxi F *k Ret F .
B Stroke aximum Force eturn Force sMount;-lg
Cam Only (mm) (kN) [(UStons)| (kN) (Ibf) crew size Xg
LRC0306350* 50 30 3.3 0.62 140 M8x25 Oe
LRC0306375* 75 30 3.3 0.59 133 M8x25
LRC0510050* 50 50 5.6 2.7 614 M8x25
LRC0510075* 75 50 5.6 29 662 M8x30
LRC0510095* | 95 50 56 | 3.0 668 | M8x30 L';g%’g”gg;“s'g)‘ziﬁ .
LRC1015050* 50 100 11.2 2.7 614 M10x30 :|— T
LRC1015075* 75 100 11.2 2.9 662 M10x30 Rated Capacity
LRC1015095* 95 100 11.2 3.0 668 M10x30 Stroke
LRC1520050* 50 150 16.9 2.7 614 M12x30 Optional Work Angle
LRC1520075* 75 150 16.9 2.9 662 M12x30 (if supplied with driver)
LRC1520095* | 95 | 150 | 169 | 3.0 668 | Mi2xgo | V)it Negative or uphillangle)—
Nitrogen Spring Preference —

* Select preference for nitrogen gas spring. Dadco = D, Kaller = K
(Example: LRC0306350D for Dadco preference or
LRCO0306350K for Kaller preference)
** Maximum force is achieved for centered loading only. Off-center loads can Patent Pending
reduce overall capacity.

L Lamina



Lm LamCam’

RollerCam only

E i B /—M (2 PLACES)

E I C P (4 PLACES)

Handling Hole M16

N

-M+m
-

LS

\
/

|
E © ©

1
L1 |

ROLLER CAM DIMENSIONS (all in mm)

PART NUMBER M P
Rol(l)erICam A B Cc D E F G H H1 | J K L Dowel N|O Serew R S
nly

LRC0306350* | 190 | 178 | 110 | 4.5 6 40 50 | 117 85 | 28 63| 63 a8 28 | 48 | @8 31 75

LRCO0306375* | 224 | 210 | 130 | -7 8 47 50 | 117 85 | 28 63| 63 a8 28 | 48 | @8 31 75

LRC0510050* | 190 76 | 134 | 9 57 28 80 | 140 | 103 | 28 100 75 a8 46 | 54 | @8 36 80

LRC0510075* | 224 76 | 168 | O 74 28 80 | 140 | 103 | 28 100 75 a8 46 | 54 | @8 36 95

LRC0510095* | 244 76 | 188 | -5 84 28 80 | 140 | 103 | 28 100 75 a8 46 | 54 | @8 36 | 110

LRC1015050* | 214 76 | 154 69 30 | 126 | 163 | 124 | 57 150 90 | @10 | 46 | 64 | @10 | 36 90

LRC1015075* | 240 76 | 180 82 30 | 126 | 163 | 124 | 57 150 90 | @10 | 46 | 64 | @10 | 36 | 105

LRC1015095* | 260 76 | 200 92 30 | 126 | 163 | 124 | 57 150 90 | @10 | 46 | 64 | @10 | 36 | 115

LRC1520075* | 240 76 | 180 82 30 | 176 | 185 | 140 | 62 200 110 | @10 | 46 | 67 | @12 | 45 | 105

3
2
2
LRC1520050* | 214 76 | 154 5 69 30 176 | 185 140 | 62 200| 110 | @10 | 46 | 67 | @12 45 90
4
4

LRC1520095* | 260 76 | 200 92 30 | 176 | 185 | 140 | 62 200 110 | @10 | 46 | 67 | @12 | 45 | 115

* Select preference for nitrogen gas spring. Dadco = D, Kaller = K
(Example: LRC0306350D for Dadco preference or
LRCO0306350K for Kaller preference)

L Lamina



Lm LamCam’

RollerCam with Driver and Positive Return
3 and 5 Metric Ton Capacities

For special driver angles
contact Lamina Customer Service 800-652-6462.

- d -
4-@ 13 Thru \\{ d1 - =—e
D- DD J
| |
| Reye & | |
T d2 -t 40
125 ;
=
| S It
/i< . O @ L
NS | L
V4 _. 6/6 | // \
\&/ 1
|_ H4 -




Lm LamCam’

RollerCam with Driver and Positive Return
3 and 5 Metric Ton Capacities

Lamina takes the guesswork out of designing the correct

driver to use with your Roller Cam.

See the dimensions below for a Lamina-designed driver
for your application.

With Driver—T
Rated Capacity

PART NUMBER LEGEND

LRCD0306350XXN *

Stroke :|7

Optional Work Angle

]

(if supplied with driver)
(“N”) if Negative or uphill angle)—

Nitrogen Spring Preference —

* Select preference for nitrogen gas spring. Dadco = D, Kaller = K
(Example: LRC0306350D for Dadco preference or

LRC0306350K for Kaller preference)

RollerCam with Driver and Positive Return

PART NUMBER AMlaz| va | va | H3 | Ha | vi |alb|c|dalat|d2]elr
LRCD030635015N" | -15° | 65 | 1322 | 114.2 | 2846 | 3105 | 42.1
LRCD030635010N* | -10° | 60 | 146.3 | 116.0 | 2852 | 301.1 ] 43.1
LRCD030635005N" | -5° | 55 | 160.8 | 117.0 | 2836 | 289.3 | 444
LRCD030635000° | 0° | 50 | 170.8 | 117.0 | 2745 ] 270.0 | 400
LRCD030635010° | 10° | 40 | 2035 | 1145 | 271.9 | 247.1 | 60.0 | 20 | 30| 70 | 180 145|105 20 | 110
® [LRCD030635020° | 20° | 30 [ 214.5 [ 108.4 | 262.8 | 2185 | 60.0
O [[LRCD030635030° | 30° | 20 | 237.6 | 99.0 | 256.9 | 1945 | 800
F [ [LRCD030635040* | 40" | 10 | 248.0 | 86.8 | 244.2 | 1655 | 90.0
W [ LRCD030635050" | 50° | 0 | 268.0 | 71.7 | 214.6 | 122.1 | 115.0 | 90| 30| 70 | 180] 150 100] 75 | 90
T [ LRCD030637500* | 0° | 50 | 177.0 | 117.0 | 277.0 | 2840 ] 500
LRCD030637510° | 10° | 40 | 1995 | 116.5 | 2790 | 265.6 | 600
LRCD030637520° | 20° | 30 | 214.9 | 112.4 | 2689 2355 600 | 90 | 30 | 70 | 180 | 145 105 | 20 | 110
LRCD030637530° | 30° | 20 | 2335 | 104.8 | 2564 | 204.0 | 700
LRCD030637540° | 40° | 10 | 2558 | 941 | 2414 ] 171.6 | 900
LRCD030637550° | 50° | 0 | 2769 | 806 | 2391 | 154.0 | 1150 | 90 | 30 | 70 | 200 170 120] 15 | 110
LRCD051005015N" | -15° | 65 | 147.7 | 1375 | 319.0 | 3465 | 42.1
LRCD051005010N* | -10° | 60 | 165.8 | 139.5 | 319.7 | 335.1 | 431 ] 90 | 30 | 70 | 180 | 145 | 105 | 20 | 110
LRCD051005005N* | -5° | 55 | 186.2 | 1402 | 316.0 | 319.3 | 44.
LRCD051005000° | 0° | 50 | 206.0 | 140.0 | 329.0 | 320.0 | 50.0
LRCD051005010° | 10° | 40 | 236.2 | 136.3 | 310.3 | 277.1 | 50.0
LRCD051005020° | 20° | 30 | 259.7 | 128.5 | 294.9 | 2385 | 60.0 | 90 | 30 | 70 | 200 | 165 | 125 | 20 | 130
LRCD051005030° | 30° | 20 | 272.9 | 116.7 | 282.3 | 2045 | 70.0
LRCD051005040° | 40° | 10 | 287.7 | 101.4 | 282.4 | 1855 | 90.0
« | LRCD051005050 | 50° | 0 | 307.2 | 83.1 | 245.2 | 132.1 | 115.0 | 90 | 30 | 70 | 200 170 120] 15 | 110
& [ LRCD051007500 | 0° | 50 | 1941 | 140.0 | 339.0 | 339.0 | 46.1
= " LRCD051007510" | 10" | 40 | 2213 [ 137.9 | 329.9 | 3056 | 500
W " RCD051007520 | 20° | 30 | 2492 | 131.5 | 318.4 | 2705 | 600 | 90 | 30 | 70 | 200 | 165 | 125 | 20 | 130
I [ LRCD051007530" | 30° | 20 | 275.0 | 121.2 | 389.0 | 219.0 | 70.0
LRCD051007540° | 40° | 10 | 281.9 | 107.2 | 291.6 | 201.6 | 80.0
LRCD051007550° | 50° | 0 | 314.1 | 90.0 | 261.2 | 154.0 | 1150 | 90 | 30 | 70 | 200 170 | 120] 15 | 110
LRCD051009500° | 0° | 50 | 1951 | 1400 | 334.0 | 339.0 | 450
LRCD051009510° | 10° | 40 | 2316 | 138.8 | 3247 | 3053 | 55.0
LRCD051009520° | 20° | 30 | 248.6 | 1333 | 3225 ] 279.3 ] 600 | 90 | 30 | 70 | 200 | 165 | 125 | 20 | 130
LRCD051009530° | 30° | 20 | 270.9 | 123.7 | 307.0 | 241.3 | 700
LRCD051009540° | 40° | 10 | 294.9 | 1105 | 293.1 | 206.9 | 90.0
LRCD051009550° | 50° | 0 | 317.9 | 93.8 | 2709 ] 166.8 | 1150 | 90 | 30 | 70 | 200|170 120] 15 | 110

L Lamina




Lm LamCam’

RollerCam with Driver and Positive Return
10 and 15 Metric Ton Capacities =

For special driver angles
contact Lamina Customer Service 800-652-6462.

il d -
4-@ 17.5 Thru d1 - —— o
\5(9_ Ty ]
T LS
c a
l 1y
0,0 0N 1
12 _./ lr- d2 =-]| 40
2 - Dowel
12 5—l S
T _iil_l i
V1 }
o o
A2

o

H4 -




Lm LamCam’

RollerCam with Driver and Positive Return

PART NUMBER LEGEND

10 and 15 Metric Ton Capacities LRCD0306350XXN *

. . . With Driver-T
Lamina takes the guesswork out of designing the correct Rated Capacity
driver to use with your Roller Cam.

Stroke
Optional Work Angle

See the dimensions below for a Lamina-designed driver (if supplied with driver)
for your application. (“N”) if Negative or uphill angle)—

Nitrogen Spring Preference —

* Select preference for nitrogen gas spring. Dadco = D, Kaller = K
(Example: LRC0306350D for Dadco preference or LRC0306350K for Kaller preference)

RollerCam with Driver and Positive Return

PART NUMBER M A2 ] V3 | Va | H3 | A4 [ Vi [alblcld ai]d2] e ¥
LRCD101505015N" | -15° | 65 | 1584 | 158.2 | 357.4 | 396.7 | 255
LRCD101505010N* | -10° | 60 | 1851 | 161.0 | 355.4 | 380.8 | 315
LRCD101505005N" | -5° | 55 | 207.7 | 162.7 | 352.0 | 3632 | 44.4
LRCD101505000° | 0° | 50 | 217.0 | 163.0 | 347.0 | 344.0 | 40.0
LRCD101505010° | 10° | 40 | 249.6 | 160.0 | 342.0 | 310.7 | 500 | 20| 64 | 110|200 [165] 125 20 | 130
LRCD101505020° | 20° | 30 | 277.7 | 152.1 | 329.7 | 271.1 | 60.0
LRCD101505030° | 30° | 20 | 305.6 | 139.6 | 319.4 | 2353 | 80.0
LRCD101505040° | 40° | 10 | 318.6 | 122.9 | 301.0 | 193.9 | 90.0
«» | LRCD101505050" | 50° | 0 | 339.1 | 102.5 | 274.4 | 147.6 | 115.0 | 140] 64 | 110200 | 170] 120] 15 | 110
2 [LRCD101507500~ | 0° | 50 | 221.1 [ 163.0 | 3520 ] 350.0 | 500
[ LRCD101507510° | 10° | 40 | 245.9 | 160.2 | 346.6 | 316.4 | 50.0
Z [ LRCD101507520° | 20° | 30 | 276.0 | 1525 | 333.2 | 2755 | 60.0 | 140| 64 | 110|200 | 165 | 125 | 20 | 130
I [ LRCD101507530* | 30° | 20 | 3055 | 140.1 | 321.1 | 237.8 | 80.0
LRCD101507540° | 40° | 10 | 329.4 | 123.6 | 300.2 | 193.9 | 100.0
LRCD101507550° | 50° | 0 | 339.9 | 103.3 | 290.4 | 164.3 | 115.0 |140] 64 | 110 | 200 | 170 | 120 15 | 110
LRCD101509500° | 0° | 50 | 209.2 | 163.0 | 362.0 | 360.0 | 50.0
LRCD101509510° | 10° | 40 | 246.2 | 160.2 | 346.3 | 316.1 | 50.0
LRCD101509520° | 20° | 30 | 271.0 | 152.5 | 342.0 | 284.3 | 60.0 |140| 64 | 110 [ 200 | 165 | 125| 20 | 130
LRCD101509530° | 30° | 20 | 302.9 | 1402 | 328.4 | 2452 | 80.0
LRCD101509540° | 40° | 10 | 317.6 | 123.6 | 3105 | 2042 | 90.0
LRCD101509550° | 50° | 0 | 339.9 | 103.3 | 293.3 | 167.1 | 115.0 |140] 64 | 110 | 200 | 170 | 120 15 | 110
LRCD152005015N" | -15° | 65 | 182.6 | 180.0 | 363.7 | 406.7 | 255
LRCD152005010N* | -10° | 60 | 206.4 | 183.1 | 363.6 | 390.8 | 315
LRCD152005005N" | 5" | 55 | 227.0 | 184.7 | 362.0 | 3732 | 44.4
LRCD152005000° | 0° | 50 | 2351 | 185.0 | 359.0 | 354.0 | 40.0
LRCD152005010° | 10° | 40 | 266.4 | 181.3 | 357.8 | 320.7 | 500 | '#0| 64 | 110|200 [165] 125 20 | 130
LRCD152005020° | 20° | 30 | 294.2 | 172.1 | 3491 | 281.1 | 60.0
LRCD152005030° | 30° | 20 | 326.1 | 157.7 | 332.2 | 2353 | 80.0
« | _LRCD152005040" | 40° | 10 | 336.2 | 138.5 | 316.7 | 1939 | 90.0
Z [LRCD152005050" | 50" | 0 | 566.4 [ 115.1 | 2825 137.6 [ 1150 [140] 64 [ 110 [200[170] 120 16 [ 110
[ LRCD152007500* | 0° | 50 | 239.2 | 185.0 | 364.0 | 360.0 | 50.0
Z [ LRCD152007510° | 10° | 40 | 262.7 | 1815 | 3624 | 326.4 | 50.0
il [ LRCD152007520* | 20° | 30 | 298.3 | 1725 | 342.6 | 2755 | 60.0 | 140| 64 | 110 | 200 | 165 | 125 | 20 | 130
= [LRCD152007530" | 30° | 20 | 326.0 | 158.2 | 333.6 | 237.8 | 80.0
iC [ LRCD152007540" | 40° | 10 | 349.0 | 139.2 | 315.8 | 193.9 | 100.0
LRCD152007550° | 50° | 0 | 359.2 | 115.0 | 298.6 | 154.3 | 115.0 |140] 64 | 110 | 200 | 170 | 120 15 | 110
LRCD152009500° | 0° | 50 | 239.2 | 185.0 | 364.0 | 360.0 | 50.0
LRCD152009510° | 10° | 40 | 271.3 | 183.3 | 352.1 | 316.1 | 50.0
LRCD152009520° | 20° | 30 | 293.2 | 172.4 | 351.4 | 284.3 | 60.0 |140| 64 | 110 [ 200 | 165 | 125| 20 | 130
LRCD152009530° | 30° | 20 | 323.4 | 158.2 | 3411 | 2452 | 80.0
LRCD152009540° | 40° | 10 | 338.1 | 139.2 | 321.2 | 199.2 | 90.0
LRCD152009550° | 50° | 0 | 359.2 | 1150 | 311.4 | 167.1 | 115.0 |140] 64 | 110 | 200 | 170 | 120 15 | 110

L Lamina



eulwe )

"I19YIONVHOUILNI LON SINANOAIWOD ‘WD 114 WOLSNI Y SI SIHL

‘uonosjes Buuds usboljiu uo sajou Joy | abed asg

"S31V1d d¥aM NIVL3Y OL d3SN SHANILSY4 TV NO
INFTVAINDI YO ¥YIHO0TAYIYHL FT1GVAONIY ¢vZ# ILILO0T AlddY

‘310N

ERA R EREET £100Z1SOM 14
dmTguwol| 1 0vLPE0LOOM 174
QINIHOYW ‘3a11S SFIS €| L Y0S0E90N1S €z
INVO 437108 004 Nid 437108 | 1 £INIdOY 144
WY ¥3TION V1A N3 | 7da3£900Y ¥4
ONIMAS SYO | 1 (1 39vd 339) 0z

wwoy X 2°7h X 0L A | | £000G0NON 6l
ONINY3IE TOMNYD OIHLIN TTIOW | | . XSOSYAON 8l
AQOg WO ¥ITION | 1 Y050£908N i

3Lv1d INOY4 YD 4ITION | 1 £97d.14041 9
ADININLIY SOd| L a)d001800Y1 Gl
VADINYNLTY 'SOd| | ¥Md00180041 vl
gIYgNdnLIy sod| 1 80d€90041 €l
VYNNI Sod| ) Y0d€90041 2l

WY ¥ITION ALV Id Wyam| ¢ dMO0SE900YH 1 b
YIANA WYD ¥ITION | 1 000050£90041 0l

wwog X 27k X 0L A | 0£ZL0LATN 6

30v4 INNOW 1001 WY ¥3T108 | 4 £940071930V4 8
SSOLE X v MIHOS IANA| . 1818114 /
IXGIXOLN SOHT|  C . 6001204 9
GIXSTIXSWSOHS | ¥ . 1180104 g

9IXGZ IXSN SOHS | 9 . 6080404 ¥

TIXGTIXGN SOHS | . 8080104 ¢

SOHSOLX 0L XON| 8 . 6090104 z

wwog ovLal| b . 089v101LZ b

NOILdI¥OS3a 'ALD | "HO¥Nd JINYN Livd "ON WalLl

S14dVd LNINOdINOD

0¢ 144 9 " 3 A
()—
ol| |
-
9l 0 =
©@
e// 8 O .
T ol | LR —®
O— o
6
o— . <
[44 » O
1) il
@Y/ (.
8l
1
14 0l

s9119g wwgo
slied jusauodwo?)

weniaj|oy

wejuwe

74

Gl



m: _ Eml— J ‘uonosjes buuds uabojiu uo ssjou Joj | abed sag

“I79YIDNYHIHILNI LON SININOIWOD ‘W) LI WOLSND ¥ SI SIHL

'S31¥1d 4YIMNIVLIIY OL @3SN SHINILSYH 1% NO
INITVAIND3 HO YIND01AYIHL I19YAOWIY TrT# 3LILDOT A1ddY

10N
VIdUYIMTIILS| L L£100Z1SOM 14
dM 7/g wWwgl l 051090120M 144
JANSAINHOVIN [ L Y0S000LIAIS €C
YD 437104 00L NId¥3TIOH| L 00LNIdDY [44
INYD¥ITIOH AVIdONI| € 14d300124 14
Wwoy X £ZLX0LAM | ¢ €000SOWDN 0C
ONIYY38 T04NYD JIHLIN TIDW | L * XSSEHADW 6l
ONIASSYO [ L * (71 39vd 339) 8l
AQO8 WYOUITIOH [ | V0S000L4W A
31¥1d INOY] WYOUITI08| | 0011d1441 9l
DIENINIISOd| | 80400141 Sl
Y DIENENLIISOd| L V0d00LDY1 4!
YO UITIOY ALY IdavIM| ¢ dMO0S00LOYT €l
43IANa WYOUITION [ | 00d050001D41 4!
GADININLSOd| L d00L80DYT L
YADINUNLIYSOd [ L ¥1d00180DY1 0l
IOV4INNOWT00LWYD ¥ITION | | 001X201830v4 6
SSOL/EXp#MIDSIANMA| ¢ * 815114 8
IIXGIXOLNSOHT| ¢ % 6001204 L
SOXSTIXGWSOHS | ¥ * 1180104 9
0OXSTIXNOHS | ¥ * 0180104 S
IIXSTIXNOHS | 9 % 6080104 14
CIXSTINSIHS | ¢ * 8080104 €
SOHSILXOLXIW| ¥ * 6090104 4
wwos oYLl L * 059Y10ILT L
NOLLdI¥]SIa | ‘ALD [ 'HO¥Nnd JWYN 14vd | "ON W3l

S13Vd LNINOdINOD

salIag wwoQl

slied jusauodwo?)
weoia|joy

wejuwe J



eulweT

A

‘uonoajes Buuds usbBodjiu uo sajou Joy z| abed sag

‘T19VIDNVHIYILNI LON SININOJWOD ‘W) LI WOLSND ¥ SI SIHL

'S31Y1d 4YIMNIVLIE OL A3SN SYINALSYA 11V NO
INITVAINO3 YO YINDOTAYIYHL ITGVAOWIY TvT# 3LILD0T A1ddY

‘310N
Y14 YyIM T33LS l 1Z00ZLSOM 174
dM /g wuwol l 08L00LOLIOM €
3aNS GINIHOYW l Y0S00SLINTS 144
INY2 431104 001 Nid §3T104 l 0SLNIdDY 1z
YD 437104 ‘3L¥1d AN 4 1d@305124 0z
wwoy X £7L X 0L AN z €000S0WDN 6l
ONIHY3d TOYINYD DML TIDIW z % XSSEYADIN 8l
ONI4dS SY9 L * (¢l I9Yd 335) Ll
AQ0d WYD 437104 1 Y0500S L9 9l
31¥1d INOY4 WD 431104 l 0511d14041 sl
YIAA WY ¥3TI0Y L 000050002241 vl
4 I NYN134'S0d 1 404051041 €l
¥ 149 NHN134°50d l Y0d0S 141 4
YD 437704 3L 1d HYIM 4 dMOS0SLD4T Ll
4 AINYN13YS0d l ad00180DY1 0l
¥ A NHN134'50d l ¥)d00180DH1 6
1Dv4 INNOW T00L WY 431104 l 0S1%207930v4 8
SS9L/E X 74 MIHDS IAA 4 # (815114 L
9LXG LXOLW SDH1 z + 6001204 9
GTX ST LX8IN SDHS v * 1180104 S
0TXST LX8IN SDHS 9 * 0180104 4
9LXGT LX8IN SDHS 9 + 6080104 3
SOHS9LX O'L X OW ¥ * 6090104 z
wwos ovLal l * 05OV1aILT l
NOILLdI¥ISIA | ‘ALD | "HDYNd JWYNLYYd | "ONW3Ll

S13dVd LNINOdINOD

S9119G WWQG|

slied juauodwo?)
weoia|joy

WL

10



eulweq T)

“T19Y3IDONVYHOHILNI LON SININOINOD ‘WY L4 WOLSND V SI SIHL

‘uonosjes buuds uabojiu uo ssjou Joj | abed sag

'S31¥1d 4YIMNIVLIIY OLA3SN SYINILSY TIV NO
INITVAIND3 4O IND0TAYIHHL I1GVAOWIY ZvTi# 3LILDOT ATddY

110N
3Lv1d dYIM T33LS L LZ00ZLSOM 14
dM7/g wuiol L 08L07L0LOOM 144
3d11S AINIHOYW l Y0S000CATS €
YD 437104 001 Nid 437104 L 00ZNIdDY [44
YD 437104 ILv1d ON3 [4 140300204 4
wwoy X 7L X 0L AN 4 €000S0WDN 0C
ONI4Y38 T04WYD LI TIDIW [4 * XS0SYAOW 6l
ONIYdS SYO [4 * (¢l 39vd 335) 8l
Ad08 WY 431104 l ¥05000Z8N Ll
31v1d INO¥4 WYD ¥31104 L 001d.L4D41 9l
4 I8 NdNn.134°50d l 804000041 Sl
¥ I3 Ndn13d S0d L V04002041 7l
YD 437108 31¥1d 4¥3IM [4 dM0S0020Y1 €l
dIAIA WY ¥3T108 l 00005000241 4}
4 A NUNLIY SOd L @4d00180041 Ll
Y A NUNLIY SOd l ¥)d00180JYH1 0l
30v4 INNOW T00L WYD 431104 L 002X201783Dv4 6
SSOL/EXv# M3YDS I [4 * £81SL14 8
9IXGLXOLIN SOHT 14 * 600104 L
SIXSTLX8I SOHS 14 * 1180104 9
0TXST'LX8IN SOHS 9 * 0180104 S
9IXST'LX8IN SOHS 9 * 6080104 14
SOHSOLXO'L XOW 14 * 6090104 €
INY) ¥3T104 'ONIHSNg l 00ZONIHSNA 4
wwos oyLal l * 0S9VL1dILC l

NOILdI¥]S3a 'ALD | "HdY¥Nnd JWYN 14Vd | "ON W3l

S14Vd LNINOdINOD

\

s9LI9S WwQ0Z
slied juauodwo)

weni1ajjoy

WL

909090

11



Lm LamCam’

Spacer
MSC100042

Flathead Screw
F030607

NITROGEN SPRING APPLICATION SPECIFICATIONS

FACE NITROGEN _ _ _
> | WIDTH | GAS SPRING $=50mm S=75mm $=95mm
Jmi) DADCO SPRING
g . KALLER | R19-063B | R19-080B N/A
1 mm
DADCO | C.090.063B | C.090.080B N/A
lggmm KALLER | MC3-063Y | MC3-080Y | MC3-100Y
mm
LCRERE RN | | oomm | DADCO | C.250.063 | C.250.080 | C.250.100

Modifications are made to the face plate for Dadco Spring application. Dadco and Kaller springs are not interchangeable
within the RollerCam. Spring length is an important consideration when replacement is needed; we recommend replace-
ment with the original spring brand. Other brands of nitrogen springs may be requested but will be treated as a special.

7//_/%

A

\#\:\f\’ﬂ’\\\“\\;

Lamina RollerCam in a typical piercing application

DAYTON Lamina”

a MISUMI Group Company

IEM [ Lamina LEMPCO

*Dayton Lamina’s line of Danly products is available only to North America.

www.daytonlamina.com

© 2018 Dayton Lamina Corporation. All rights reserved.

086 11/18



